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2Findthe valuLes oithealloesinap 

aO:L837 x jo00 = Y837 

bO3 29x 10ccO 389O 

193:8 x l0= 9380 

d3.908 x 10 = 39.CO8 

e.0.0007 x lOO O:O7 

3.0Iz}HO E 30-7 

Oo8:9x [oo IOOgL0 

b-O-03.09x lom= 30.9 

txercise -1OC9) 
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3. 394x 19= 3888 then find tbe prodict of each ofthe ollouino) eaithaut actuallyp gerdiorming the moul~iplicatim 
d3.24x 32:28 

3 E 12:322:8 
e O:32419: 3-882 
d. O.00394x 12: 0.03888 

4.4 61y.6 x9=S531-L then iond the product 
odeachof the allocaing taitbaut octuually 

Ldoinn themultiplicotion. 
la. 614x 9= 53-14 
b. O.6tuBx 9 bi531 
L6l16xq 653H 

c6-1u6x9= 553I4 

Sf2.4&x6= l183 dhen find out theprodtuct 
coithout actually doing themultipliation
when 2.42_ismulipliecl hp 

a-60 x 9.48 = |48 8 
b. 600x 2.48 = 48 
CO:6x 2.48=|-42 
d. O:06x 9:48 = O.1438 
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8.e. 6000x 9.48 : 4830 

f 56.2 x7293:4 then ind the rduck 

af eachothe tolloenip toithot octuall 

daincp the multiplicotion. ve 
la 0:S6ax733.934 

b. 56x7: 3934 
CO056L 7: O:3934 

d.b61x7e 39:34 


